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Ecuaciones trigonométricas

7.- tg X-sex= 2

sex 1 _ 2 . SeX —\/_ senx= \/E(l—serfx) . J2serfx+senx—+/2 =0
COSX COSX cos®

V2
2
senx = (la soluciérsen x= -2 no es valida)
-2
= 45+360Pk
senx :Q = X
2 X, =133+360°k
8.- tg2x=-tgXx
12?)2( =-tgx ; 2igx=-tgx+tg’x ; gx-tg’x=0; tgx(3-tg’x)=0;

tgx=0 — x =0°+ 180°k (el valor de la tangente se repite cada 180°)
3—tfx=0; tfPx=3; tgx =++/3;

tgX = +4/3 — X% = 60° + 180°-k

tgX = —v/3 — X% = 120° + 180°-k

9.- cos 2x + sen X = sen 3X

+ —_
cos 2x = sen 3x — sen X (Recuerdasen A—-senB =2 coéz—B sen A2 B

)

3X+ X 3X—X
cos 2x =2 cosT sen

: COS 2X = 2 CO0S 2X sen; X

Cos 2x—2cos 2xsenx =0; cos 2x (1 — 2 senx)
cos 2x =0— 2x = 90° + 180°-k— x = 45° + 90°-k

x, = 30°+36(°K

1-2senx=0;2senx=1; senx—1= =
2 X, =150P+360Pk

10.- cos€ x — 3 sefix =0
1-sefx—3sefx=0; 1-4sefx=0; seﬁx:%'senx:\/i:i%;

{ X, = 30°+360°P Kk 1 {XS 210+360°k
senx =-2 =

senx=— :>
X, =150°+360°k 330°+360Pk

2

11.- serf X —coé x =

N

1
1—co§x—co§x:%; 1—2co§<:%; 2—4co§<:1;coszx:%;cosx=ia

COS X= — :>

{ X, = 60°+360P Kk 1 {Xs =12¢°+360°Pk
2

COSX=—=
X, = 300P+36(Pk 2 |x, = 240°+360°k




